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AFd 94 2 AEE A 10,280 10,080 200
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01 AHF#HE]H] 8,780 8,580 200
1) Grr<-g-1] 8,280
D)RFAY THFIt= A=} 60,0009 * 157 % = 900
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DAFTY A} A wE] B T4 Al 50,0009 * 3078 = 1,500

= 9 9,000 9,000 0

ANkR g 9,000 9,000 0

01 AMS|RAGH 8T 9,000 9,000 0
DEZIY BFIIE 9% 30,0009 * 30078 = 9,000

T 7hrE A A DAY 256,000 8,000 248,000

A A4 16,000 8,000 8,000

307 ®zkelH 16,000 8,000 8,000

02 PRz 16,000 8,000 8,000
DEFHA &g @ AHA A 2,000,000 #57 A = 10,000
DEFEA 471ZF3] (57]A]) 6,000,000¢) = 6,000

a2 A4 150,000 0 150,000

Ankw A 150,000 0 150,000
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2)eHE 4FFT 70,0009 %287 *12Y = 23,520

03 AHFAH 54,600 0 54,600
DA EA] A7 130,00099%35% 129 = 54,600

04 WERZH| 51,360 0 51,360
D6-7 130,000 +8 #12¢ = 12,480
D7-8% 120,000 %279 x129 = 38,880




HA R A ] 7
A AT 54 S3
L i e o Ml i s M W = e s I (9] 1)
BA - A - B (EA) - AR - BRE o2kl 5e SEEEs
05 "EHEF7H 53,506 0 53,506
DA EA] A 535,055,000¢%1.2/12¢ = 53,506
06 7HAIAn] 89,355 0 89,355
DA A Adra-<d 535,055,000 %16. 7% = 89,355
07 A7FEAH] 29,726 0 29,726
DA EA] A5 535,055,0009)%1/12%1/30%20< = 29,726
201 LRke-odn| 26,700 23,700 3,000
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D=8 4,500
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